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Pull of y for merged vertices

. AU SRS SRS SR R S

08| S U OO U OO SO W

iy B0 1 EI Y REEINE iy 5.5 1 AT I EE N A
PRV SRS FURRT IV Y VWU NV P sl b L Qe e L

Ratio

N
L e
'

'

.

o
o
T

s
T

20 -15 =10 -5 0 5 10 15 20 20 -15 =10 -5 0 5 10 15 20 560 =40 =20 0 20 40 60
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.951 0.95b i LI UL

N 2F )
5 . of S
— 1.8 £ bk sk bt ks
=) I ) L
& 16F - [ : : : : :
o ) .. . [ (R et K
1.4F o 0.81 : : : : :
L [} | . . . . .
1.2F E b & i
o 2 0.6 Breneees e RRCRERES e ARRCREE
1= N 3 . : : : :
C ° i : : : : :
E 0'85 E 04" ARRERE [RERERE RRREREEE AR
- 0.6F r : : : : :
- 0.4F 0.2F--eee- renens e e e e
:_ 0.2:_ r : : : : :
: g g ¢
[ : : B B B : : 24 [ : : ] ] ] : : 24 [ : : : : :
L 117 g Ty R 110 : Ty U e oo R AR e
0515 =10 -5 0 5 10 15 20 %5510 -5 0 5 10 15 20 %0 =40 =20 0 20 40 60

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


